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4220 LBkzteldl 915,894 8,930 0 940,319 924,824 A 15,495
4221 Gl S| 26,800 0 0 26,800 26,800 0
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A - HE 0l &K

<Xl &> (&9 @ &)
2 = S=2 | HsE2 | usHd [gxusd zausmel S(A)Z b e 2 3 (o9 K)
= ” = 310 3174 A (A) (B) (A - B) & & < =9 E
o 5 =

2t2 0k -HAE2FGIIIKXN 2HE 1,578,000

—AMFAS 2 23%200,000 400,000

-NASFHSKE S 13%200,000 200,000

SSEE -HABFIWIIXN 22HEF 2,460,000

-QEXESII-THSHHAH E S 2,660,000

-HAZ2FSIIIX OIOIAIGOIY, AU E 1,560,000

IFESKX . -FHAHEEZ 1,600,000

-NCS 2= M2IIEIIS 2,230,000

-NE0YY Z2-EuUs 2,000,000

HAMSEE -29/HE 3,120,000

~SMAAIIELF IS HEH 150,000

HECI R -FIEHUHEY 1,177,000

—ANMFANSELEELL 63/%200,000 1,200,000

-F AL F OIS X S| 100,000

Of=0l=!t-Jop Direction 93 &f 650,000

-HESETZ ) 2,000,000

-AAS FHSXF E2H| 3,300,000

-SZ2 M X AKX F S X &Hl 80 *20,000& 1,600,000

AN FY 1,600,000

-FHEHG 2,000,000

AZCI X -FnC &2l S22 138%200,000& 200,000
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A - HE 0l &K

<X &> (&9 : E¥)
& = S=3 | HIS=E3 | ueda |gxus zFose| (A2 2 2 (oo . =
- = = 33 813 A (A) B | (a-p) & & = J(ed: )
i = =

AMZOXH(-SHH e T2 660,000

SAMFHA(LABSFEWMIIN) LS 400,000

OICIH2(-EI0 DM 2HHZEHLASE 9,240,000

-FnC SR8t WRoE 4,110,000

-SHEEE S 240,000

-FnC &2eld S22 55/%200,000 1,000,000

CIXNED-AdEFSLSIHIIX 32 E*200,000 600,000

-=22& X&dl 20 *50,000 1,000,000

-FPgerets S & otHl 70Z 10,000 700,000

SHIH:-FnC ¥ 2AIIW=E Summer Workshop 285,000

-FnC F2A1H =2 158]%200,000 200,000

—AMFHAH IR 331%200,000 600,000

AT HE:-FHIOIAIEDFH WS 200,000 »32F & 600,000

-FnC W= 200,000 3 &t 600,000

-DWM SoIHAMHAEY 5,380,000

-GN EE HEXNE 4,080,000

Felll. -4dFgus ZALE 23/%200,000& 400,000

CIXtRI A -2 2 X2l 3 & Z+1,000,000 3,000,000

-CH&*S 43t For DreamAte) =& 20,000,000

OICIHE-tHst =43t For Dream AL F& 20,000,000

WEEX -S43t For Dream At FE 20,000,000
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A - HE 0l &K

<X &> (ct9f @ E8)
& = S=3 | HIS=E3 | ueda |gxus zFose| (A2 L= o o (ool . s
= - = 31 51 R (A) B | (a-p) ¢ & = (B4 : &)
4330 & AlZeld] 0 600,000 0 550,000 600,000 50,000
4331 A= 0 150,000 0 150,000 150,000 0
JlEn -YgA==E 150,000,000
4332 Al &I 0 450,000 0 400,000 450,000 50,000
JlEn -gAZ 450,000,000
4400 W=2HIE 30,000 110,000 0 30,001 140,000 109,999
4420 JIEtRE2HI 30,000 110,000 0 30,001 140,000 109,999
4421 =4 30,000 110,000 0 30,001 140,000 109,999
JIEl 1l <EH&EaA> 110,000,000
SR <EHEa>
-NEY S5= &= S 30,000,000
4500 &2 500,000 0 500,000 0 0] 2A500,000
4510 &= 500,000 0 500,000 0 0] 2A500,000
4519 HISE3=H & 500,000 0 500,000 0 0] 2A500,000
JIE) <ARIISHEN> ASZota2l 500,000,000
4600 OldIbl 0 1 0 3,000 1 A2,999
4610 oildl gl 0 1 0 3,000 1 A2,999
4611 oflgldl 0 1 0 3,000 1 A2,999
BHWF-0dibl 1,000
1200 S Xt 24D| EFAF A 0 2,140,660 0 1,590,000f 2,140,660 550,660
1260 2JI=HE 0 2,140,660 0 1,590,000f 2,140,660 550,660
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Al

—
<X &> (29 : &R)
& = S=3 | HIS=E3 | ueda |gxus zFose| (A2 L= o o (ool . s
= - = 31 51 R (A) B | (a-p) ¢ & = (B4 : &)
1263 Z2AH=II=HE 0 560,000 0 530,000 560,000 30,000
JIEn <YoA=IISHE>
-2 Z2otd2dl Jls HE 500,000,000
-2A=J12 W30k HE 60,000,000
1264 Lol I|ISHE 0 150,000 0 30,000 150,000 120,000
JIE <Y Fsii=sHE>
-&s)|3 301k DIz HY 20,000,000
“HTALE HEts 239 A 20,000,000
-Rol2d JIRS 110,000,000
1265 H2AEI XIS HE 0 20,000 0 10,000 20,000 10,000
JIEln <YAEHIISHEHE>
-E&JI= WS0IAEE 20,000,000
1266 AL HII=HE 0 680,000 0 1,000,000 680,000 2320,000
JIEn <YoqgEIIZHEE>
-2&II=Z WS0IANEE 680,000,000
1267 &2AJIEHII=SHE 0 20,000 0 20,000 20,000 0
JIEl <YAJIEDISEHE>
-H30IHEg 20,000,000
1268 L2|J|EIZ2(H 0 710,660 0 0 710,660 710,660
BN -L2IIEDIZ HE 710,660,000
1300 & Xt N 937,083 40,000 0 1,971,628 977,083 2A994,545
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Al

o]

—
<Xi&> (29 : &R)
& = E25 | HE=3 | UmdY |gxduc 306 s(a)z P ——
e & = (A - B)
1310 S D E XHAHOHE 937,083 40,000 0 1,971,628 977,083 A994,545
1314 J1H .01 OHH 585,248 4,000 0 519,793 589,248 69,455

R <AFASSIIAIIFMHSH>
-2 AHE PC : 10CH+1,300,000& 13,000,000
-ZAFE Z2LIH : 504*350,000& 1,750,000
-GtE 2ot (win7&) : 45,000 *160CH 7,200,000
-AEASA tERIHII 20Hx500,000 1,000,000
-AEadsa ZeHIl 1 1,300,000
AT -HAASA S AIXI WA 30+1,650,000% 4,950,000
-=AUE =3 PCUA : 110H+1,650,000& 18,150,000
-0ICIHZ &8 PC 93CH*1,345,000& 125,085,000
-2 BtE PC 6201%1,225,000& 75,950,000
U3 2dUN =HILSIEE PC, 2LIH 4,000,000
WECIXH -AtSAHE TSI 10 1,430,000
CIXE0I-24&54&8 A0 10H+490,000& 490,000
a3 E: -0t |OIE 4J4+500,000& 2,000,000
-4K Jt0ilet 2JH+4,000,000& 8,000,000
-E2t0IZE(&2HH) 211,250,000 2,500,000
FLelCl.-0tola=2 ot & II110H+9,075,000 9,075,000
-& &I (2HP) 1CH*3,000, 000 3,000,000
-AJMAIS (3 E) 10H+700,000& 700,000

_66_




A - HE 0l &K

<Xl &> (ct9f @ E8)
o . s=2 | HS=3 | ueN |gxoas =l S(A)Z S (=
= = = Ep] P HIA (A) (8 e & & < SR

el -SHEA0, HXIC(Z)10H«700,000& 700,000

-+=SA2Y, NN (22 )10H+300,000 300,000

“HAIN(SSE)101+85,380& 85,380

CIRFQI A R R A S A (2055) 2Ol MZetTelE 100 1,782,000

~EAASA(2058) ItERIEI] 1T 495,000

-~ ASA(2058) AMUH 1Y 1,830,000

~ZOIAI DA SA(2178) IHERIEI] 1T 495,000

~ZOIA DA SA(2178) AMUH 1T 1,830,000

w2 <WEFEINAIIA0HLH>

-gZ2AEH : 1504+3,200,000& 48,000,000
dE2e| -Zet=Zele 10i+1,200,000& 1,200,000
-S8ZelfE 10H+3,000,000 3,000,000
MRS -APWE 15 +1,600,0003 24,000,000
SHIE: -2, 820 1,700,000

- AIH PC 2CH+1,300,000& 2,600,000
- A Z2LIH 204%350,000& 700,000
22 -RAZNTSEE Il 101%30,000,000& 30,000,000
-ZJ|&4z&E3sI| 204*2,000,000 4,000,000
HMXE-=F A WA 10H: 30,000,000 30,000,000
-=23 PC WXl 420H+1,300,000& 54,600,000
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Al

<Xi&> (29 : &R)
. _ = E25 | HE=3 | UmdY |gxduc 306 s(a)z P ——
e 8 = (A - B)
HAXNE-==3 2UH WA : 370H+300,000& 11,100,000
=S ARX WA 504x1,650,000& 8,250,000
-EOoHAIAE R 65,000,000 65,000,000
-lpatel € FItE g 118,000,000 18,000,000
1315 &2 HIZ HH 142,335 36,000 0 342,335 178,335 A 164,000
FOtUF <ASAYIIHISHLH>
-AE A 1,200,000
-D8J| 272,000
-ABE 2J4x57,000& 114,000
IWECIXH -XFSAFE M SI1 10H+1,430,000
-HAA HSS2X 16,500 1004 1,650,000
R <PYAUFIIHISHLH>
-go @ AT 2,100,000
-8s A38 210H+500,000& 10,500,000
SR 24 M 24 WA 20,000,000
-JIEt W8 FIHIE S 10,000,000
FOtW S -sHHALS 8 (82F) 1JH%297,000& 297,000
220 -ALSE Rl 6JH%297,000& 1,782,000
SR <AMRAEIIHISHLH>
-2 4 300,000 204 6,000,000
-2/ X+ 300,000 *20 4 6,000,000
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A - HE 0l &K

<X &> (¢t @ &Q)
o . E25 | HE=3 | UmdY |gxduc 306 Sla)z B OB 9 =] 8 e
= & = (A - B)
SR  -MZE 250,000 *20H4 5,000,000
-JIEFEJIHIS Dbl 10,000,000
SHRIEE M M DI 5,000,000
HAZH:<AEHASES/WIH HI>
—-Adobe CCT & 2t2tOldl A 20JH+750, 000 15,000,000
CIXIE0I<RE8 S/Woidl>
—-Adobe |l lustrator CC:45JH*264,000& 11,880,000
—-Adobe Premiere Pro CC:45JH%264,000& 11,880,000
CIRQI A ¢ -GtE 2 okt 55,000 =120 660,000
HAX2-2lZE g E 2 15,000,000
JIEl 0 <&EJIHI S0 dl>
23 <IIEFEIIHI S0 >
-EH 2E AZEQN 3,000,000
-g& L 0IIIAH 2L 5,000,000
TMUF -2l A A AO1(160,0002 *541 x40 ) 32,000,000
-JIEt EIIHIZ 4,000,000
1317 ©AH 2| 109,500 0 0 109,500 109,500 0
JE e <H#=2R2AHI> 3,800€*13,500& 51,300,000
<HEAMXZ2H>
-DVD 400& *25,500& 10,200,000
-e-book 950 40,000 38,000,000
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A - HE 0l &K

<Xl &> (&9 @ &™)
o s S=a | HIEEZ2 | UsHA |gaua zF0au| S(A)Z L = o col . o
= - = s | 8o A A (A) ® | (4-g & o 5 2 0= s E)
HE2e| -0 25 503*200,000& 10,000,000
1319 H&INHH 100,000 0 0| 1,000,000 100,000|  2900,000
JIE0 <AHAINAF>
-sog 2legd A=, H))
-sog 229 S+xY, SF
SR <HEIMAF>
-=2 AelHIoIE At 100,000,000
I olg K2 1,056,653 3,020,663 0| 2,349,777| 4,077,316| 1,727,539
A= X EESA 22,807,239| 15,085,519 500,000| 33,235,264| 37,392,758 4,157,494
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A 1= 20163AHAE SESA 27HEE AB0U SUS +Y, AE 42 22,807,239,000H22 St

A 2 =224 A2 dAMet HE2 MY-MS ottt &ttt

Al 3 = AT ARSA IO st Sail2] Al 132 10| oA S¥a L e e =2t ofite] =0 AS [ol=
d= HEY & ULt

A 4z sAaels A2 AH2-S A2 & A7 AF-2A 2100 CHet S22lS 46T



20168t = FIIE A N30 SZE(SE2)
S 9 Of X Of B IR CLER)
4 gl X =
e = =70l Ao S Ol AF Y z 2 H & e = =70l A S Ol At Y z 2 H &

SE2+2(5100) 18,879,098 18,603,498 275,600 1.5) 2==(4100) 11,083,994 10,418,394 665,600 6.4
w222 (5300) 0 0 0 0.0f Zel2<81(4200) 3,537,456 3,860,456 A323,0000 A8.4
WS 22042 (5400) 214,000 201,000 13,000 6.5| &S H|(4300) 5,662,053 5,782,053 A120,000]  A2.1
H 19,093,098 18,804,498 288,600 1.5) WS 241 (4400) 30,000 30,000 0 0.0
DA EDI0IE X2 3,714,141 2,797,702 916,439| 3.8 & =3(4500) 500,000 500,000 0 0.0
H 20,813,503 20,590,903 222,600 1.1
DA XHAH(1300) 937,083 771,628 165,455 21.4
H 937,083 771,628 165,455 21.4
NDIE=PE=) 1,056,653 239,669 816,984  340.9
2= SH 22,807,239 21,602,200 1,205,039 5.6 NN ESH 22,807,239 21,602,200 1,205,039 5.6

YREC 2 2 PHHE NS+LXE SHO S UZUIZ MS(LZ0I5H RMI2IDX H ot

—>-|

L 0I5 [&F)
SHEH(EDIOIE 2 X018 K32 |RSEM 2AH0= I3 ®al)



20168t E ZIIEE NS0 2N (S=2)
£ 9 0 X Of 8 9 M)
ES X S
a . =0 A S 2 Ofl &F 4 " FZ0 oty SE PN
2 o 2 o - 2 o 2 o 24
S=23242(5100) 18,879,098 18,603,498 22=(4100) 11,083,994 10,418,394 48.2
WS4 (5300) 0 0 zrel2gl( 3,537,456 3,860,456 17.9
WSR2 OH42(5400) 214,000 201,000 5,662,053 5,782,053 26.8
Al 19,093,098 18,804,498 30,000 30,000 0.1
NEESPIENS 3,714,141 2,797,702 Z2(4500) 500,000 500,000 2.3
20,813,503 20,590,903 95.3
937,083 771,628 3.6
937,083 771,628 3.6
NIIE=D=; 1,056,653 239,669 1.1
H24e = 22,807,239 21,602,200 22,807,239 21,602,200 100.0
F) 1. 2UAXSO 2 py Hs XN222UXE SHO W H2HI2 M4S(A2FH0I6H RMA2I0K 2
2. RE2M U2 S| X 20 9 xol0lE Xt h 20




A - AlE =138 0lld

<%el>
o = =8y | & oum | SO
o gt = Ol & 24 (A) (B) (A - B)
5100 &E3=+¥ 18,879,098 18,603,498 275,600
5110 sE3=+< 18,879,098 18,603,498 275,600
5111 &2 &3 1,152,736 1,058,848 93,888
5112 =g=2 17,726,362 | 17,544,650 181,712
5300 wW=ERUH==¢ 0 0 0
5320 EZANEZ+L 0 0 0
5322 HHSLAMEZ 0 0 0
5400 w2+ 214,000 201,000 13,000
5410 Gz 0l Xt==¢ 200,000 200,000 0
5411 OISOl At 200,000 200,000 0
5420 JIEtu=E2|+=¢ 14,000 1,000 13,000
5421 &= 14,000 1,000 13,000
OIMNEED|I0IE N2 3,714,141 2,797,702 916,439
2= 3A 22,807,239| 21,602,200 1,205,039




Al

- HlE =018

A& ool A
o = 28, |8 5| Bz B} 5
o gt = Ol & 24 (A) (B) (A - B)
4100 2= 11,083,994 | 10,418,394 665,600
4110 WIS+ 7,903,722| 7,958,122 A54,400
411 wASH 5,038,175 5,038,175 0
4113 WM 1,489,757 1,489,757 0
4114 NAHERE= 0 0 0
4115 AtZ o= 694,500 828,900 A 134,400
4116 S8L2= 2,250 2,250 0
4118 2wl | 679,040 599,040 80,000
4120 HEAE 3,180,272 2,460,272 720,000
4121 HE =0 1,523,050 1,523,050 0
4123 HE M= 814,972 814,972 0
4124 MNAHERE= 0 0 0
4126 =& 2,250 2,250 0
4127 MAE X = 840,000 120,000 720,000
4200 22| 3,537,456| 3,860,456 A 323,000
4210 A& 2eldl 1,183,192 1,206,192 A23,000
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Mg - Mg =t

Ok
0
L=
Ea

<N &>
ot = A %: &g‘j s(a)2
o gt = Ol & 24 (A) (B) (A - B)
4211 A==2teltl 170,500 170,500 0
4212 &l 22|yl 326,260 326,260 0
4213 & 22| 54,800 84,800 30,000
4215 A8 E 3| 380,400 428,400 A48,000
4216 B =2 19,000 19,000 0
4217 2l& - Xz 227,232 172,232 55,000
4219 J|EFAI & 22| | 5,000 5,000 0
4220 Letate|d| 915,8% 928,894 A 13,000
4221 H|l n S| 26,800 26,800 0
4222 X=X bl 16,800 16,800 0
4223 22 FH| 262,817 262,817 0
4224 Q1M = THy| 15,000 4,500 10,500
4225 Hety| 73,000 97,000 A24,000
4226 &I - =&= 336,000 336,000 0
4227 S4ld| 105,895 105,895 0
4228 HAl - Z0t=2 73,582 73,582 0




A - HE FIHEE 0l &t
A& ool A
i, = 2016 = x| z(a)2
=IIAN | A oH H| n!
o gt = Ol & 24 (A) (B) (A - B)
4229 Ng==8 6,000 5,500 500
4230 23 bl 1,438,370 1,725,370 A287,000
4231 S| M| 40,172 40,172 0
4232 W=EEdH| 119,420 119,420 0
4233 LBEtEAY| 480, 144 717,144 A 237,000
4234 A2 F=LH| 139,460 139,460 0
4235 2 24| 472,280 522,280 250,000
4236 3|2/d| 90,944 90,944 0
4237 A AHYI 87,250 87,250 0
4238 & 1| 8,700 8,700 0
4300 & -2stAAY 5,662,053| 5,782,053 A 120,000
4310 A-1H| 292,400 412,400 A 120,000
4311 & 2H| 182,500 302,500 A 120,000
4312 222l 109,900 109,900 0
4320 stZd| 5,369,653| 5,369,653 0
4321 WU &Es = 3,400,000| 3,400,000 0
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M - A& Z0HEE ola
<X &> o9 - A
ot = g %: o Zj E(a)2 " 5
o gt = Ol & 24 (A) (B) (A - B)

4323 &8 A&l 729,290 729,290 0
4325 st X &l 1,240,363 1,240,363 0
4330 2 Al2teltl 0 0 0
4331 LAl 0 0 0
4332 LAl ZHI 0 0 0
4400 wW=2AHI=2 30,000 30,000 0
4420 JIEtu =24 30,000 30,000 0
4421 &4 30,000 30,000 0
4500 &8=3 500,000 500,000 0
4510 =3 500,000 500,000 0
4519 BISE33lH & 500,000 500,000 0
1300 D& XA X = 937,083 771,628 165,455
1310 SEDE XA X 937,083 771,628 165,455
1314 DA .01+ OHE Bl 585,248 519,793 65,455
1315 &J| HIE 0Ll 142,335 142,335 0
1317 & &l 109,500 109,500 0
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HY - A& =133 OlatA

<X &>
o = =8y | & oum | SO
o gt = Ol & 24 (A) (B) (A - B)
1319 A &ItAHIE 100,000 0 100,000
Al o8 N3 1,056,653 239,669 816,984
2 X E3A 22,807,239| 21,602,200 1,205,039




=2 VI8 AS0iLiA

SRiEED




Mg - Mg =

I3 E 0l &t A

I

el : @E)
016 g x| =)
= FaEG | WL 5 2 (2
= - (A - B)
18,879,098 | 18,603,498 275,600
18,879,098 | 18,603,498 275,600
yst= 1,152,736 1,058,848 93,888
J12 )
-1,768% x652,000& 1,152,736,000
= 17,726,362 | 17,544,650 181,712
J12 )
925.5%+4,792,000& 4,434,996,000
95% 5,647,000 536,465,000
-HMSSAHE 598.58+5,811,000& 3,477,883,500
879 +4,792,000& 4,212,168,000
918 %5,647,000& 513,877,000
“HMSSHE 521.56%8+5,811,000& 3,030,436,500
1518 +4,792,000& 723,592,000
113.5% 5,647,000 640,934,500
499) 54,953,000
99¢) -197,754,943
=g =>
23.5%+4,792,000& 112,612,000




Mg - Mg =t

Ok
0
=2
Ea
x

= = 58n | G oo | =) & @ 2 (98
8t 2 0fl &K (A) ®) | (a-B) = =T
JI= -4std 40 +4,655,000& 186,200,000
0 0 0
5320 SZANEEE 0 0 0
5322 HHESZAIE= 0 0 0
214,000 201,000 13,000
5410 GI=0Ikt==& 200,000 200,000 0
5411 GiI= Ol At 200,000 200,000 0
JI= -uHl S0Ik+=¢ 200,000,000
5420 JIEt WS+ 14,000 1,000 13,000
5421 == 14,000 1,000 13,000
JI= <& ==>
-TNEHE S 14,000,000
OIAFS&EII0IE8 X3 3,714,141 2,797,702 916,439
32+ 3 22,807,239| 21,602,200 1,205,039




SE35Pi| 272 20N

AlEel




HY - A& =133 OlatA

<K &> (&5l : dQ)
G = =5%n | G o m | 542 4 & 2 3 (29 8)
n)) 8t =2 Oil &K (A) (B) (A - B)
4100 2= 11,083,994 | 10,418,394 665,600
4110 DAL 7.903,722| 7,958,122 54,400
4111 DS 0f 5.038,175| 5,038,175 0
MY <E=ZMDAZ0>
-uw=  13Y% 68,986,010&*12& 827,832,120
-2 19% 86,189,520 x12& 1,034,274,240
-S=5=a& 11,532,620
<IN DY S0
-Z 1= 339 1,547,631,780
“2odG(aE) 219 630,000,000
A AHE 39 120,000,000
—IEHDE QAR 4,703,940
<AADAZ 0>
-80H x9A| 2tx30F+32, 000 691,200,000
<EY D30
-36,000,000& 2% 72,000,000
-10,000,000& 1 10,000,000
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= ct = = 2F
— G — - — 0_1?3?0%3(%) Ao | =4 & & 2 A (B9 )
2 = = = (B) (A - B)
J| &l ot —SEEME(AEY HEE) 5,000,000
-NEZUE AL 10,000,000
-&4°|Cs LED Mo B 3,960,000
-SE20H LR 2 10,000,000
W —NRMES D L2EX*23]*2,500,000& 5,000,000
WA E S D001 E H Y x43]«1,500,0002 6,000,000
S22 -EZN HNME 1,000,000
d2 22l -GS XA 25]%440,000 880,000
-=E2Z2F 2,0000H*4,000& 8,000,000
4236 3|9/t 90,944 90,944 0
S22 <BEAMGRE2 328>
-&200,000& *12& 2,400,000
FOtWSI <2 AHE 25 H|I>
-40Y *23]*20,000& 1,600,000
RERn s -30¥ *23]*20,000& 1,200,000
AZEA M -40H«235]%20,000 1,600,000
=20t -20% *23]*20,000& 800,000
SEHEEW -25%H«25]%20,000< 1,000,000
HE=S X -30H«235]%20, 000 1,200,000
HIABEEU -202%23]«0,0008 800,000
I & CIXF QI 2253 %235] %20, 000 1,000,000
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OtS0l=22-30Y+23| 20,0002 1,200,000
AZHCI AR E 223 +235] «20, 0002 880,000
OICI 01 201 Z2-17 %23/ x20, 0002 680,000
CIXEDICIC-14%+23| 20,000 560,000
MR2/H D 2525 +20,000 1,000,000
SHIE=Z-25%%25|%20,0002 1,000,000
A BE=E-12H%23]%20,0002 480,000
FL2lCINHE-18H 235 «20,000 720,000
Ot = <At S S 23 35 2>
-3/2ldl @ 20%¥*20,000& *23] 800,000
-H0OHl © 118 +50,000& »23] 1,100,000
ARty -3l oldl : 23]%20,000& x15H 600,000
-AH0tHl : 23]%50,000& 8K 800,000
ASELH -3l : 15H*23|%20,000& 600,000
- MOl © 723! %50,000& 700,000
2 0t -39l :15¥*23|%20,000& 600,000
-0l © 9" *23|%50,000& 900,000
SEI2 0 -{0dl : 108 %50,000& 23 1,000,000
-3l o/l : 15 20,000& »23] 600,000
IFES XA 312l © 15H*23|%20,000& 600,000
- A0l © 6Y¥*23!%50,000& 600,000
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< = 255x | G o | S & & 2 (29 8)
o gt = Ol & 24 (A) (B) (A - B)

BIA&E D -3lodl @ 15%+20,000+23] 600,000

—10HH] © 13 +50,000%23] 1,300,000

HECIXHRIZ-31olH| @ 152 *20,000& *23 600,000

-10tHl © 9 +50,000& *22| 900,000

OtS0I=22-3/9H| : 158 *20,000%23 600,000

-10HH] © 9 +50,000%23] 900,000

AZCIRHRIZ -3 ol H| 142 *20,000& *23 560,000

-10HHl ¢ 7 +50,000& *22] 700,000

OICI0 20i2-3/ 2l @ 13Y+20,000& *23| 520,000

-10tH] ¢ 8 +50,000& *22] 800,000

CIXIZ0ICIC-210tdl : 10 +50,000& *23| 1,000,000

-39/l : 14Z+20,000& *22| 560,000

NS A -39/l : 20,000 «15% %23] 600,000
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AU XZI-HOH :© 7¥*23%50,0002 700,000

-32/Hl + 10¥+23+20,000& 400,000

FLlCIXe-3/o/d| © 13 *23/%20,000& 520,000

-10HH] © 10 +231+50,000& ,000,000

=4 -Hetd W A3l 2ld] 102 *20,000& *22] 400,000
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G = =5%n | G o m | 542 4 & 2 3 (29 8)
n)) 8t =2 Oil &K (A) (B) (A - B)

n=sa SJlsniuts W2ZALE Sl 3l 200,000

D <OIEE >
S RMESHEIIE A, A5
StAHl, S H 231*500,000& 1,000,000
—ystmolesl 3ol
AL A2 AH0H 3¥ 70,0003 73] 1,470,000
CttHl 100,000 73] 700,000
ACH 25,000& 14 *33] 1,050,000
OlEHBE 255 0| 1,000,000
-RFMIE O 3ol (HOHH]) 500,000

W ~HEEHEARE ¢ 13+x8H*200,000& 1,600,000
~F O IR QI E Al A
HBAA(LAR): 16%4%200,0002 43 12,800,000
A (L)HHE: 250,000 x2H »23] 1,000,000
JIEFA AHHI (R R QIAFRA R 3]) 1,500,000
L] @ 16JH 2+70,000& 1,120,000
ACH 0 709 %10,000& *43] 2,800,000
A=A 1,000,000
~EHR3 2l : 4,000&*31H*63] 744,000
NS AT © 4,000& *200Y x4 3] 3,200,000
-2E 23 AW : 150,000&*103] 1,500,000

_32_



HY - A& =133 OlatA

<Xl &> (&9 : dH)
2 = =%m | o o | SO 4 & 2 3 (B9 :9)
n)) 8t =2 Oil &K (A) (B) (A - B)
W -W2H 3 2dl : 150,000 28| *23] 600,000
-WRAFH2AR/Z F2H| : 100,000 x53] 500,000
—WRAXZBLZA AN 0 50,0003 %10 *23] 1,000,000
RETE=) TS C] =I BS 500,000
[W=st&HE]
-sStMIT =z )8 32| : 100,000 *33) 300,000
—nSSHEH 2R3 0 100,000& *43) 400,000
[NCSX| & AIE ]
-NCS2 &3 : 50,000&*123] 600,000
-NCSOIEH nEUHEE(CQl) MS/ASE It
-3/ 2 H| 20,0003 *10H 200,000
-EHOEI (A2 ) - 300,000 *3H 900,000
—WZAIE O (=)  25/%400,000& 800,000
St —SEA A2 R3] 9/H] 70,000 *203| 1,400,000
-FAXNERAH S 100, 000& *24 3| 2,400,000
SR -AEARS 32| 3,000,000
222 -SHYBL2I A KA 23] +7H 20,000 280,000
HAMXHUE-ZSEHBFAIY 2 & 39| 500,000
NE=EXNY -D=0s =T 2HEE(900,000)
210kHl @ 10 %50,000 500,000
3| 2IH| : 20¥*20,000 400,000
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OICIOI 20l 2-NIEAH I &1 HI 2+ =3 (1,280,000)
HOtHl 8% 50,0003 *23| 800,000
3|9/l 12%+20,000& *23| 480,000

4237 S AHH| 87,250 87,250 0

ShA 0t <E YA
-=& X J1EEH| 250,000&x120E-AlMIB S 30,000,000

mEs=anl: - &4 5,750,000
-&hQ| 4= (] Al 12,500,000

SR W oIg A 14,000,000
WA EFH A 15,000,000
=JIEr W LHSEALE/ &l 2 A 10,000,000

4238 & Wl 8,700 8,700 0

M= <SH4 0l B B HI>
-~ H 2 A 28 0[%23] %2 Al 2b%200, 000 & 1,600,000
-SEH0 =2 500,000
<gEEHH>
-HERY Sa| 2,600,000
<JIEt& wH>
-2 2tHX 200,000
-~W A A0 Z Yl 308/%60,000& 1,800,000
-=SRJI&3 Ctar&dl 302+50,000& 1,500,000
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ER-ET
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~HA2H|  4D0HH*5,000,000& 20,000,000
4312 A2l d| 109,900 109,900 0
Jl 2l <JIEfH 2 22lHI>
-~ZAMAZIM 304*5,000,000& 15,000,000
w3 (R2H]
=L : 50&%200,000& 10,000,000
=2 : 10&¥+250,000& 2,500,000
[NCSKI & MIE ]
-NCS & = Al & d| 8,000,000
71 <HHAJE 2>
-2l 28/%200,000& *60H 2 2,400,000
-M 24l 2002 +10,000& 2,000,000

-HHEA 0BE =Y 70,000,000
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~EHE 2 A imm/ 1, 9603 = 104 19,600
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2= 1.7L 3,600+304 108,000

-HES 3503 +5H 1,750
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=R - EIE (M) 15,0008 2T 30,000

ABYLD -Z2ALSHE ¥ ASL2E 46,698,000
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-NCSERus £2F 200,000 *33] 600,000
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HY - A& =133 OlatA

<Xl&>
G = =5%n | G o m | 542 4 & 2 3 (29 8)
n)) 8t =2 Oil &K (A) (B) (A - B)
SHBUH=Z-FAOIUEDHFWE 200,000 «324 & 600,000
—-FnC W= 200,000& ~3& & 600,000
-DWM SoFAHAEEY 5,380,000
-GaAs FHASKE 4,080,000
FLUONEC-AFMFHWE 2AIZ 25/+200,000& 400,000
CXAE -32F X2l 30H&ES+1,000,000& 3,000,000
-S43} For DreamAted =&l 20,000,000
OICioEaI-tst S &3t For Dream AFE X 20,000,000
WESXNHE-HESHS For Dream ALHFZX 20,000,000
4330 2 Al2teltl 0 0 0
4331 LAl 0 0 0
4332 LAl ZHI 0 0 0
4400 wW=E2AHIE 30,000 30,000 0
4420 JIEtu =24 E 30,000 30,000 0
4421 &4 30,000 30,000 0
E20 <TEA>
-AEY SE=S &= S 30,000,000
4500 &8&3 500,000 500,000 0
4510 =3 500,000 500,000 0
4519 BISE33lH & 500,000 500,000 0
J1& <AZI| ST N> ASAIPA24H| 500,000,000
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HY - A& =133 OlatA

<X &> (&9 @ Q)
=2 ct = = ot
- - - - = 0;’?3?01’%7‘3) ol (g)iﬁ s(a)d 4 & 2 3 (29 )
2t & = = (A - B)
1300 LA XA XIS 937,083 771,628 165,455
1310 SEDET AN 937,083|  771.628 165,455
1314 21,017 bl 585.248| 519,793 65,455
mE sy <SHEASEINAHIIF0SH>

-2 A& PC : 10CH*1,300,000& 13,000,000

-ZAE Z2UH : 504x350,000& 1,750,000

-otE 8ot (win7&) : 45,0002 *160CH 7,200,000

-NEASAY IHEClEH I 20H+500,000&3 1,000,000

-AEasa TelgI 10 1,300,000

SMXNEHE-MMAMSA S AXWH 30H*1,650,0002 4,950,000

=& =3t PCA : 1104*1,650,000& 18,150,000

-0ICHE &= PC 93CH*1,345,000& 125,085,000

-24uE PC 620H*1,225,000& 75,950,000

HECIAAZ-TSAFE W21 100 1,430,000

CINEDICIC-A&sas A 104%490,000& 490,000

S BE=Z-II02H SOl 494+500,0002 2,000,000

-4K It0ii 2k 29H*4,000,000& 8,000,000

~EC2tOIZ = (AH2TH) 290+1,250,000& 2,500,000

=ZelClXe-0t01a2 ot 3K E I1101+9,075,0002 9,075,000

~& &I (2HP) 1CH*3,000,000& 3,000,000

~AJLAIE (2 &) 101*700,000& 700,000
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HIg - HIZE F=IIEE 0l&A
<X &> o EY)
o = =58x | G w o | 542 4 &8 2 3 (29:8)
24 st = Ofl & (A) (B) (A - B)

ZURICIXFC-2 N QI TH, 2 XI CH () 104+700, 0008 700,000
~ASAIZ2 XM (DS E)10H#300,0002 300,000
~EH A (2YR)101+85,3802 85,380
CIRQIHY -HRASA(2055) dl0IHZ2Zlel 10) 1,782,000
~HIAISAI(2055) FHS2IH I 10 495,000
SHERASA(2055) AHH 10 1,830,000
~HoI AN DASA(2175) FHS2IHI 10 495,000
~HOADASA(2175) AU 104 1,830,000

DR <DK2IIHIIRHLE>
-~ I EE : 15003,200,0002 48,000,000
Y222 -Z2HTE 10H*1,200,0008 1,200,000
~SWIRIE 10§+3,000,0002 3,000,000
AN ME- QA 1521,600,0002 24,000,000
THBHXZ-MAM, A2 1,700,000

W <ASEIAHIIF O HI>
~2J Al PC 204*1,300,0002 2,600,000
~QAIH RUEl 204%350,0002 700,000
MDY -2 NS 101x30,000,0002 30,000,000
~ZII4ZE3I| 204*2,000,0002 4,000,000
HAMNME-5 A DA 104 30,000,000 30,000,000
~=&35 PC WA 4204+1,300,0002 54,600,000
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HY - A& =133 OlatA

<X &> (&9 @ Q)
=2 ct = = ot
- - - - = 0;’?3?01’%7‘3) ol & o | (o) 4 & 2 3 (29 )
2t & = = (A - B)
SMXNEHE--53 D@LIE WA : 37CH*300,000& 11,100,000
-~ ALK WA 50Hx1,650,000& 8,250,000
-SOotAIAE = 65,000,000 65,000,000
-p&tel € It 118,000,000 18,000,000
1315 &J| HIZ 142,335| 142,335 0
FOtW S <ASAXIHIZ0HLHI>
- E A 1,200,000
-ZEJ| 272,000
~ABHE 2I0%57,000& 114,000

HECI XA Z-THSAHETHE D] 10H+1,430,0002

-wda HESE2 X 16,5002 « 10004 1,650,000
w20 <ZYAZIIHISHSHI>

= E T 2,100,000

-8& A3l 210Hx500,000& 10,500,000
SR -Zoa M oZa WA 20,000,000

-JIEt UEE 8IIHIS S 10,000,000
FOtW S -stMALSEH(82F) 1JH%297,000& 297,000
=t ot -AN= gl 6IH%297,0002 1,782,000
sS20 <AFRAEIIHISHSHI>

-2 &b 300,000 204 6,000,000

-2/ X+ 300,000 204 6,000,000
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N - KlE

FIHEE Ol&tA

<Kl &> ool d)
= ct x = o
- G - - — 0_1?3?0%3(%) Ao | =4 & & 2 A (B9 )
2 &l = = (B) (A - B)

SR -2 250,000 20K 5,000,000
-JIEtEDIHIS el 10,000,000
-HRIEE 2A A0 5,000,000

SYZHII<AFHASSS/NOHLEI>
—Adobe CCT &H2tetOlM A 20J4+750,000& 15,000,000

CIXE0ICC<nEE S/WoHdl>
—Adobe |l lustrator CC:45J1+264,000& 11,880,000
—Adobe Premiere Pro CC:45J1+264,000& 11,880,000

CITHOIHE st =2 ot 55,0002 1204 660,000

HMUXHHE-2|ZLE WY E 15,000,000

E2 <DIEtEDIHI S0 HI>
-E8 =3 ATEYY 3,000,000
g4 & 0soAH 2 5,000,000

1317 & &l 109,500 109,500 0

22 <22 AH> 3,8008 13,500 51,300,000
<HEMXZ2P >
-DVD 400&#25,500& 10,200,000
—e-book 950Z+40,000& 38,000,000
-2C02E 505+200,000& 10,000,000

1319 A &ItAHIE 100,000 0 100,000
SR <AAIAEHE>
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Hg - HAlE FOHEAE 0l&tA
<X &> (B9l @ &R)
2 = 25 | G w o | S & & 2 3 (29 8)
3_4 & = Gl&eN(A) | (g) (A - B) - T
ELn 22 delHIoIeH SA 100,000,000
A olg N3 1,056,653 239,669 816,984
a2 XN ESA 22,807,239 21,602,200 1,205,039
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20168t = FIIE A X30a SEH(HSES1)
o0 X OB a1 (B9l : ®al)
4 gl X =
e = =70l Ao S Ol AF Y z 2 H & e = =70l A S Ol At Y z 2 =1
SE2+2(5100) 1,033,000 991,000 42,000 4.2\ 2==(4100) 1,165,076 1,208,040 A42,964|  A3.6
eI 2421 (5200) 8,284,746 5,864,500 2,420,246  41.3| 222 HI(4200) 148,840 84,285 64,555 76.6
WL 042 (5300) 647,000 598,000 49,000 g.2|| &S H|(4300) 8,460,279 5,937,630 2,522,649 42.5
WAL A2 (5400) 837,920 1,117,101 A279,181| ~25.0( WS 2AHIE(4400) 110,000 1 109, 999{999900.0
H 10,802,666 8,570,601 2,232,065 26.0[ 0dlH1 H1(4600) 1 3,000 A2,999| A100.0
S XHREIIEFRFAF(1200) 43,000 5,500 37,500( 681.8 Al 9,884,196 7,232,956 2,651,240 36.7
H 43,000 5,500 37,500  681.8| & Xt2tI|EFXHAH(1200) 2,140,660 1,590,000 550,660 34.6
PE=2SPIIED =] 4,239,853 3,556,963 682,890|  19.2[ & XFAH(1300) 40,000 1,200,000 A1,160,000] ~A96.7
H 2,180,660 2,790,000 AB09,340 ~21.8
NDIE=PE=) 3,020,663 2,110,108 910,555 43.2
2= SH 15,085,519 12,133,064 2,052,455|  24.3 NN ESH 15,085,519 12,133,064 2,952,455 24.3
F) 1. AYXEL 2 2Y DHHE NSLLXE SHO HE H2HI2 AE(ASF0I5H HMI2IDEA H A
2. RS L3 W AU cIXAI0 SHE(HII0E L IDN0E 22 SSEMW SAUMs SIIXL2 M




20168t =I1EE Ns0s =X & (HSE=21)

59 o X O 8 (B @ ®Q)
4 2 Xl =
2 . =70l A SEY PN o y FHO A SEY PN
3 o 24| 2 o 24| - 3 o =l 24|
SE242(5100) 1,083,000 6.8 991,000 8.2 || £4=(4100) 1,165,076 7.7 1,208,040 10.0
MU= 221 (5200) 8,284,746 54.9 5,864,500 48.3 || 2el28I(4200) 148,840 1.0 84,285 0.7
WSL 042 (5300) 647,000 4.3 598,000 4.9 o8 A Y| (4300) 8,460,279 56. 1 5,937,630 48.9
W= 22022 (5400) 837,920 5.6 1,117,101 9.2 || =281 (4400) 110,000 0.7 1 0.0
Al 10,802,666 71.6 8,570,601 70.6 || GilHIHI(4600) 1 0.0 3,000 0.0
S XF2FIIEFRAH(1200) 43,000 0.3 5,500 0.0 Al 9,884,196 65.5 7,232,956 59.6
Al 43,000 0.3 5,500 0.0 || S XF2FIIEFKFAH(1200) 2,140,660 14.2 1,590,000 13.1
IPE=2SPIIED =] 4,239,853 28.1 3,556,963 29.3 || D& XHAH(1300) 40,000 0.3 1,200,000 9.9
Al 2,180,660 14.5 2,790,000 23.0
NDINUE=DAE=) 3,020,663 20.0 2,110,108 17.4
T2 SH 15,085,519 100.0 12,133,064 100.0 22X ESH 15,085,519 100.0 2,133,064 100.0
= SR KERIDER H A

= Sy

| &)
W= SIIXLS M)



M - HE 22138 ol
<%el>
= = =5imn | G g oo | 542
o gt = Ol & 24 (A) (B) (A - B)
5100 &E3=+¥ 1,033,000 991,000 42,000
5120 =&Y 1,033,000 991,000 42,000
5121 &&= 1,033,000 991,000 42,000
5200 MY I IR+ 8,284,746| 5,864,500 2,420,246
5210 M=+ 520,000 520,000 0
5211 B&atdl 2= 0 0 0
5212 HERY M= 20,000 20,000 0
5213 At = 0 0 0
5218 S E3AHEL= 500,000 500,000 0
5220 J|1R==< 111,012 101,500 9,512
5221 LBLIR S 1,600 1,500 100
5222 NIEJI8R= 109,412 100,000 9,412
5230 =1EXZ ¢ 7,653,734 5,243,000 2,410,734
5231 =L 7,603,141| 5,155,000 2,448,141
5232 JIEt =20X& 27,709 58,000 30,291
5233 X1 RHXIEHA 22,884 30,000 AT7,116




Al

- HlE =018

22
: ETN RIS
st =2 Ofl & (A) (B) (A - B)
647,000 598,000 49,000
LA ==Z2 600,000 550,000 50,000
5312 =& 2 600,000 550,000 50,000
RN E=F=gel 47,000 48,000 21,000
5321 28= 7,000 10,000 A3,000
5322 HOHHEZAIEZ 40,000 38,000 2,000
=2/ 837,920 1,117,101 A279,181
=0l k==& 827,750 1,117,000 A289,250
5411 OIZ2 0l At 827,750 1,117,000 A289,250
=2 10,170 101 10,069
5421 &= 10,170 101 10,069
S XLt IIEFAL A= 43,000 5,500 37,500
=301= 43,000 5,500 37,500
1263 JoH= 0 0 0
1264 2| &st 43,000 5,500 37,500
1265 2| &l & 0 0 0




Mg - Mg =t

X

33 0t

%9
o 2 2016 g x| =(a)2

ZO1AE | G A o (2)
o gt = Ol & 24 (A) (B) (A - B)
1266 olUFI|Z S 0 0 0

DIAFS R DI0I B X2 4,239,853| 3,556,963 682,890
T2 ey E 15,085,519| 12,133,064 | 2,952,455




Al

- HlE =018

A& ool A
o gt = Ol & 24 (A) (B) (A - B)
4100 2= 1,165,076 1,208,040 N42,964
4110 WIS+ 832,946 850,240 A17,294
4113 WM 3,600 4,000 A400
4114 NAYERE= 479,346 496,240 A 16,894
4116 SEL2= 350,000 350,000 0
4120 HEAE 332,130 357,800 N25,670
4121 HE =0 47,000 48,000 1,000
4123 HE M= 2,830 5,600 N2,770
4124 MNAHERE= 280,300 301,200 220,900
4127 MAE X = 2,000 3,000 1,000
4200 22| 148,840 84,285 64,555
4210 A& 2eldl 0 0 0
4211 A== 2l 0 0 0
4220 Letate|d| 8,930 11,425 A2,495
4223 22 FH| 4,430 6,225 A1,795
4227 S4id| 300 0 300




<N &>
ot = ey g—ﬁ o Zj E(A)2
o gt = Ol & 24 (A) (B) (A - B)
4228 HMIAl - =1t 900 1,200 A 300
4229 Ng==8 3,300 4,000 AT700
4230 23 bl 139,910 72,860 67,050
4232 W=l 4,800 6,900 22,100
4233 LBEtEAY| 120,000 40,000 80,000
4234 A2 F=LH| 7,860 8,960 21,100
4235 2 24| 2,000 10,000 /8,000
4236 3| °2ld| 4,000 5,500 21,500
4238 11| 1,250 1,500 A 250
8,460,279 5,937,630 2,522,649
4320 SMAH| 7,860,279| 5,387,630 2,472,649
4321 WU &Es = 76,300 25,500 50,800
4322 WelEHsg 7,742,899| 5,310,000 2,432,899
4323 &8 a sl 16,080 41,130 A25,050
4325 st X &l 25,000 11,000 14,000
4330 2 Al2teltl 600,000 550,000 50,000
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A - HE FIIEE H&tA
A& ool A
o = 28, |8 5| Bz B} 5
o gt = Ol & 24 (A) (B) (A - B)
4331 LAl 150,000 150,000 0
4332 LAl ZHI 450,000 400,000 50,000
4400 wW=E2AHIE 110,000 1 109,999
4420 JIEtW=S2HIE 110,000 1 109,999
4421 &4 110,000 1 109,999
4600 Olldldl 1 3,000 A2,999
4610 oiidll 1 3,000 A2,999
4611 ollgld] 1 3,000 A2,999
1200 S XebIIEFAFA 2,140,660| 1,590,000 550,660
1260 &eDI=HE 2,140,660| 1,590,000 550,660
1263 FoAH=IISHE 560,000 530,000 30,000
1264 g2A&s|I=HE 150,000 30,000 120,000
1265 g XIS HE 20,000 10,000 10,000
1266 FALMIISHE 680,000| 1,000,000 320,000
1267 &2JIEDI=&EE 20,000 20,000 0
1268 2IDJIEID| S (H M) 710,660 0 710,660




Mg - Mg =t

0

g &

<NE> gl - A
ot = g %: o Zj E(a)2 " 5
o gt = Ol & 24 (A) (B) (A - B)
1300 D& XA X = 40,000| 1,200,000 21,160,000
1310 SEEDE XA X 40,000] 1,200,000 21,160,000
1314 J1H. 01+ OBl 4,000 0 4,000
1315 &J| HIE 0Ll 36,000 200,000 A 164,000
1319 A &ItAHIE 0| 1,000,000 21,000,000
Al o8 N3 3,020,663 2,110,108 910,555
A= X EESA 15,085,519 12,133,064 2,952,455
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<4el> (Bt @ ®©H)
2 = —’7‘—%?1725! [(;;)1:& 57_% Sla) & =2 2 H (o949 : o)
2 8t 2 0fl &K (A) ®) | (a-B) = =T
5100 S=234¢ 1,033,000] 991,000 42,000
5120 +YE4Y 1,033,000{ 991,000 42,000
5121 g4 1,033,000/ 991,000 42,000
gdusdE o422 1,033,000,000
5200 MYUUI|F4Y 8,284,746 5.864,500| 2,420,246
5210 HUZ4Y 520,000{ 520,000 0
5211 FaH MY 0 0 0
Y <FYHEYS>
5l MERY MY 20,000 20,000 0
J1& <HERzHEYS> 20,000,000
5213 RIS 0 0 0
JI= SONFAFSESTE= D4
5218 S=3SNHYS 500,000/ 500,000 0
o8l <sE33HEYS>
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5220 DS 24 111,012| 101,500 9,512
5221 2BH|R 3 1,600 1,500 100
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-MlHE = 1,600,000
5222 X HJ|23 109,412| 100,000 9,412
JIEL <REsIIRZ>
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HE - AE =133 0latA
<4el> (Bt @ ®©H)
o = —’F—%?g’c‘! %:& 57_% s(a)z A E 2 N (e )
2 8t 2 0fl &K (A) ®) | (a-B) = =T
BYUSEE RS2 UE(LANTF, 27 &) 9,800,000
5300 WERH=+Y 647,000 598,000 49,000
5310 A== Y 600,000 550,000 50,000
5312 =& & 600,000 550,000 50,000
JI= -GAEEE+Y 600,000,000
5320 SZAEE Y 47,000 48,000 1,000
5321 S8 & 7,000 10,000 23,000
J1 &1 <HMsE=> 7,000,000
5322 HHESZAIE= 40,000 38,000 2,000
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-JIHAME S 28,000,000
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JI& -2A5JI= 0l 4==¢ 60,000,000
-2&II=S ol =g 680,000,000
-100=4218 JI3 Olk=¢ 20,000,000
dYUsE 2S+3002 27,750,000
JI& <E Iz Ol X=+=g> 20,000,000
<ZE Iz Ol AH==g> 20,000,000




A - HIE FIHEE Ol&tA
<ag> (B9 : &9)
H = -’F—%?g@ %: &Bj_jﬁ ShAR 2 A (49 : )
414 & = Gl&eN(A) | (g) (A - B) - T
5420 JIEI Ml 4 10,170 101 10,069
29 10,170 101 10,069
JI& SANE & S 10,000,000
Hdusd S BYUSAMASH S 170,000
1200 S XH4DIEFRFAH2S 43,000 5,500 37,500
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